
 

4/21/2022 www.lankota.com   |   Lankota Inc. Page | 1 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

LANTB21437 

Installation Instructions 
Lankota Planter Toolbox for JD DB60 Planters (MY2021 & Older) 

270 West Park Avenue 

Huron, SD  57350 

866-526-5682 



 

4/21/2022 www.lankota.com   |   Lankota Inc. Page | 2 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Numerical Parts List 

Part Numbers Description Qty 
LANTB037 Toolbox Upright Mount, Planter Wing 2 
LANTB038 Toolbox Mount Clamp, Planter Wing 2 
LANFHFNJH 5/8” x 9” Hex Bolt 4 
LANFWS57 5/8” SAE Flat Washer 4 
REDKRJF 5/8” Top Lock Nut 4 
LANTBJD200 Toolbox Assembly 1 

Pictorial Parts List 

LANTB037 (2) LANTB038 (2) LANTBJD200 (1) 

LANFHFNJH (4) LANFWS57 (4) REDKRJF (4) 



 

4/21/2022 www.lankota.com   |   Lankota Inc. Page | 3 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Refer to Figures 1 & 2 

• When installed, the mounting bolts are 39.1” apart. On a 30” planter, 
this requires that one set of bolts go inline with a row unit. 

• Select where the toolbox will mount using that knowledge. 

 

1. To install the first mount, hardware may need to be shortened/
exchanged. One of the indicated bolts must not go past the nut. 

Figure 2 

Figure 1 



 

4/21/2022 www.lankota.com   |   Lankota Inc. Page | 4 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 3 

Refer to Figures 3—5 

2. Install a clamp plate (LANTB038) by the modified bolt and hang it with a 
5/8” x 9” bolt (LANFHFNJH) by setting the head in the top hex cutout. 

3. Slide the upright mount (LANTB037) onto the bolt and fasten with a 5/8” 
washer and lock nut. Note: The toolbox sits within the uprights. 

4. Install another bolt in the bottom of the clamp plate and fasten. 

5. Square the mount with the frame and tighten. 

Figure 4 

Figure 5 



 

4/21/2022 www.lankota.com   |   Lankota Inc. Page | 5 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

Kit Installation 

Figure 6 

Refer to Figures 6—8 

6. Measure 39” from the first set of bolts and that is where the 2nd mount goes.  

7. Repeat the previous steps, but leave the mount loose enough to slide. 

8. Set the toolbox on the frame and install it with the 1/2” carriage bolts and flange 
nuts at your desired height. 

9. When the toolbox is completely installed and 1/2” hardware tightened, go back 
down and tighten the 2nd mounts 5/8” bolts. 

Figure 7 Figure 8 



 

4/21/2022 www.lankota.com   |   Lankota Inc. Page | 6 John Deere and JD are registered trademarks of Deere & Company. 
Lankota is a registered trademark of Lankota Group. 

For further technical assistance, 

Call Lankota Inc. at: 

1-866-526-5682 


